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; a au tietrufrnH:luyi rra{fill 2 2 3 1.5 2 3.5 3 2.5 1.5 3.5 2.5 2.45
2 4 4 4 3.5 3.5 4 4 3.5 3.5 3 4 3.73
3 2.5 2.5 3 2.5 2 3.5 a., 2 2 2 3.5 2.59
4

duot9tft"uruuct?5 14u9iur 2.5 2.5 3 atr 2.5 3.5 3 2.5 3.5 3 4 2.95
5 UlJlJ1'\l 2 3 3 3 2.5 3.5 2E 3 3 3 3 2.95
6 FI ?q 3.5 3.5 2.5 2 3.5 3.5 4 ,E, 3 3 3.05
7 u6ntraTanru fii^r:irn#u 2.5 2.5 3 ar 2 3.5 3 2 1.5 3 3 2.59
8 u?flu 1,1'l 3 3 3 3 2 3.5 3 3.5 2.5 3 4 3.05
9 Ltl'!{ 2 2 3 2.5 2.5 3.5 3 2 1.5 3 1.5 2.41

L{10
dofluluoSt?]Tr nlLtiln{ 2.5 3.5 J.-) 2.5 2.5 4 3.5 4 3.5 ,R 4.0 3.27

11
daUvd

LFlfl"ij'lU?:YilA tLUUALliS 2 2.5 3 2 2.5 2tr 3 2.5 2 2 3.5 2.59
12 U 2.5 2.5 aJ 2.5 2 3.5 3 3 2.5 3 2.68
t3 2.5 3 3 3 2.5 3.5 2) 3 3 3.5 4 3.49
t4

da
tantlunFrg)nfu flno8] 2.5 4 2E 3 3 4 3.5 4 a< 4 4 3.55

15
d6atYtonlj'rua:?til vro.rLlll.t 3 4 J.) 3 3.5 4 3.5 4 2EJ.J 3.5 4 3.59

lo tp ntrultuirurj s3rarTnri: 3.5 4 3 2.5 3.5 q 4 3.5 2.5 3.5 3 3.36
77 tfintruoBtr v!aA:l:.rr 2 2 3 2 2 2( 2E 3 1.5 2.5 2 2.45
18 L9 ftFl: 2.5 2 2.5 2.5 2.5 3.5 3 2 1.5 2.5 1 2.32
L9 !f fll1'tuJr9lu2u flfl19fl',] 2 2 2.5 L.) 2 3.5 3 2 2 2 2.5 2.30
20 L9 nrrufiu.]6tfit friio 3.5 3.5 3.5 3 3.5 4 3 4 3 4 2 3.45
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Lqflual.{:FlFln:n a:LLa{ 3.5 4 3.5 3 3.5 4 3.5 4 2 3.5 q zFo

22 fl 4 4 3.5 1.4 3 4 4 4 .E 4 3 3.50
l5 tF il14fll{1\:v,{il4 illtrfiran 3 ?5 3.5 2.5 2.5 3.5 3.5 4 2.5 3.5 4 5.27
24 t]1EJ

25
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t9lfll4fUnAylu?5itu tuea'Netl}] 2.4 3.5 3.5 2.5 2.5 3.5 3.5 4 2.5 .E 3.5 5.09
26 tafluill{o'rlur }Jrflflfri 4 4 4 3.5 4 4 4 4 3.5 4 4 5.91

27 ul,t 4 4 4 4 4 4 4 4 3.5 4 4 5.95
28

dauadd

t9rnu6!{aa:1it:fl't: L[?\:fl:u?a 3.5 3 3.5 3.5 3.5 4 4 4 4 4 3.64
29 fl14 {fl'rulJl 3 4 3.5 3.5 3 q 4 4 3.5 4 4 5.68
30 tv { 4 4 2E 3 3.5 4 3.5 4 4 3.5 5.68
3t 3.5 4 4 3.5 4 4 4 4 3 4 4 3.82
5Z lul6r 3.5 4 3.5 3.5 3 4 4 4 2.5 4 4 3.64
35 :3.ru l^i:ilfln 3.5 3.5 4 3.5 3 4 3.5 4 2.5 4 4 5.59
34

Ad

nutu.rn::tu1tr5[u anLLtil 3.5 4 3.5 3.5 3.5 4 4 4 2.5 4 4 3.68
35 3.5 4 4 3.5 3.5 4 4 4 3 4 4 3.77
36 01JV]at 4 J.f 3.5 3 3 4 3.5 4 2.5 q 4 5.55
37 tL 3 2 3.5 3 3 4 J 2 4 2 5.00
38

d a u uAtnnufu.lljultlylS a.itv!%:fla9 3 1fJ.J 3.5 4 4 4 4 2 4 4 ?EO

39 U'IU

40 tFralfitu'la:in:tu auaLllfr 4 4 4 3.5 3 4 4 4 2tr 4 4 5.82
4T taalvfu{4il6?::tu !}.J'r'tvr 3.5 4 3.5 3.5 3 3.5 3.5 4 3.5 3.5 4 5.59
42 tfrnutu{':tun: Lilfifl: 3 3.5 2E).J 2.5 3.5 4 3.5 4 2.5 4 4 3.45
43 I ,1.4
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